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Figure 1 Schematic shape of electron-nucleus and electron-nucleon cross sections as a
function of the energy transfer .
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Fig. 9 Typical position spectra of
the focal plane counter for the
166Er (p,p') reaction at 65 MeV.
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Fig. 1 A deuteron spectrum in the #*3Pb(p, d)*’Pb
reaction at E,=52MeV.

Fig. 3(o) Differential cross sections of the 208Ph(p,d)?"Pb
at E,=52MeV. Solid curves are due to the
DB analysis and broken curves to the DE
analysis. The ron=1.25fm is used.
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Fig. 3(c) Differential cross sections of the 26Pb(p,d)*’Pb
~ E,=52MeV. Solid curves are due to the DB
T| 2'0*' - "”jl'o 1 60 ' SIO analysis and broken curves to the DE analysis.
O, (deg) The 70.=1.25fm is used.

Fig. 3(b) Differential cross sections of the 2¢Pb(p,d)?*’Pb
at E,=52MeV. Solid curves are due to the
DB analysis and broken curves to the DE
analysis. The roa=1.25fm is used.
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